CM-315

Ref.explod 91221 02-08 02/06/2015 Product. 47955
rt-list ES EN DE FR
2 47503 45 TORN HEXAGONAL M6X20 HEXAGON SCREW M6X20 HEXAGON SCREW M6X20 HEXAGON SCREW M6X20
5 47446 2 RUEDA CM-315 WHEEL CM-315 WHEEL CM-315 WHEEL CM-315
6 47450 1 EJE RUEDA CM-315 WHEEL AXLE CM-315 WHEEL AXLE CM-315 WHEEL AXLE CM-315
7 47412 4 CONTERA PATA CM-315 SLIP ON FOT CM-315/PLUS SLIP ON FOT CM-315/PLUS SLIP ON FOT CM-315/PLUS
8 47451 3 PATA B CM-315 B LEG CM-315 B LEG CM-315 B LEG CM-315
14 47121 2 EMPUJADOR CM-315 PUSHER CM-315 PUSHER CM-315 PUSHER CM-315
18 47453 10 TUERCA FIJACION M4 CM-315 LOCKNUT M4 CM-315 LOCKNUT M4 CM-315 LOCKNUT M4 CM-315
19 47454 2 TIRANTE CORTO MESA AUX.CM-315 SHORT AUX.TABLE ROD CM-315 SHORT AUX.TABLE ROD CM-315 SHORT AUX.TABLE ROD CM-315
19 47466 1 TIRANTE LARGO MESA AUX.CM-315 LONG AUX.TABLE ROD CM-315 LONG AUX.TABLE ROD CM-315 LONG AUX.TABLE ROD CM-315
22 47529 1 ARAND TORN M10 CM-315 M10 SCREW WASHER CM-315 M10 SCREW WASHER CM-315 M10 SCREW WASHER CM-315
23 47413 1 PLATO EXT.CM-315 BLADE OF PLATE A CM-315 BLADE OF PLATE A CM-315 BLADE OF PLATE A CM-315
24 34995 1 GM28 315 MM GM28 315 MM GM28 315 MM GM28 315 MM
25 47414 1 PLATO INT.CM-315 BLADE OF PLATE B CM-315 BLADE OF PLATE B CM-315 BLADE OF PLATE B CM-315
45 47504 2 TORN M6X30 CM-315 SCREW M6X30 CM-315 TORN M6X30 CM-315 TORN M6X30 CM-315
49 47417 1 MOTOR 230V 50HZ 2,2KW CM-315 MOTOR 230V 50HZ 2,2KW CM-315 MOTOR 230V 50HZ 2,2KW CM-315 MOTOR 230V 50HZ 2,2KW CM-315
50 47455 1 MESA AUXILIAR CM-315 AUXILIARY TABLE CM-315 AUXILIARY TABLE CM-315 AUXILIARY TABLE CM-315
52 47544 1 BRIDA SABLE CM-315 SABRE FLANGE CM-315 SABRE FLANGE CM-315 SABRE FLANGE CM-315
53 47564 1 SOPORTE SABLE CM-315 SABRE SUPPORT CM-315 SABRE SUPPORT CM-315 SABRE SUPPORT CM-315
54 47510 5 TORN DIN 603 M6X16 SCREW DIN 603 M6X16 SCREW DIN 603 M6X16 SCREW DIN 603 M6X16
55 47565 1 SABLE CM-315 SABRE CM-315 SABRE CM-315 SABRE CM-315
58 47610 2 RAIL GUIA LATERAL CM-315 SIDE GUIDE RAIL CM-315 SIDE GUIDE RAIL CM-315 SIDE GUIDE RAIL CM-315
59 47644 1 RAIL GUIA FRONTAL CM-315 FRONT GUIDE RAIL CM-315 FRONT GUIDE RAIL CM-315 FRONT GUIDE RAIL CM-315
60 47604 2 TORN PROT.LATERAL CM-315 LATERAL PROT.SCREW CM-315 LATERAL PROT.SCREW CM-315 LATERAL PROT.SCREW CM-315
61 47566 4 POMO M6 CM-315 M6 POME CM-315 M6 POME CM-315 M6 POME CM-315
65 47461 1 COMPLEMENTO MESA CM-315 SUPLEMENT TABLE CM-315 SUPLEMENT TABLE CM-315 SUPLEMENT TABLE CM-315
66 47525 1 TORNILLO ACHAFLANADO M5X16 BEVELED SCREW M5X16 BEVELED SCREW M5X16 BEVELED SCREW M5X16
67 47605 3 TUERCA DE MARIPOSA M6 CM-315 BUTTERFLY NUT M6 CM-315 BUTTERFLY NUT M6 CM-315 BUTTERFLY NUT M6 CM-315
68 47418 1 PROTECTOR DISCO CM-315 BLADE GUARD CM-315 BLADE GUARD CM-315 BLADE GUARD CM-315
69 47567 1 TUBO ASPIRACION CM-315 ASPIRATION TUBE CM-315 ASPIRATION TUBE CM-315 ASPIRATION TUBE CM-315

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso

We reserve the right to introduce any technical modification without previous notice

Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.

Il est réservé le droit a introduire une modification technique sans préavis.

Paginaldeb5



CM-315

Ref.explod 91221

02-08 02/06/2015

Product. 47955

70 47419 2 PROTECTOR LATERAL CM-315 GUARD PLATE CM-315 GUARD PLATE CM-315 GUARD PLATE CM-315

71 47568 2 TAPA TOPE LAT.CORTE B CM-315 COVER GUIDE TOP B CM-315 COVER GUIDE TOP B CM-315 COVER GUIDE TOP B CM-315

72 47093 1 TOPE LATERAL CORTO CM-315 SHORT LATERAL TOP CM-315 SHORT LATERAL TOP CM-315 SHORT LATERAL TOP CM-315

73 47569 2 TAPA TOPE LAT.CORTO CM-315 COVER GUIDE LATERAL TOP CM-315 COVER GUIDE LATERAL TOP CM-315 COVER GUIDE LATERAL TOP CM-315
74 47570 3 POMO M6 TOPE LATERAL CM-315 LATERAL GUIDE M6 POME CM-315 LATERAL GUIDE M6 POME CM-315 LATERAL GUIDE M6 POME CM-315
77 47571 1 SOPORTE TOPE LATERAL CM-315 LATERAL TOP SUPPORT CM-315 LATERAL TOP SUPPORT CM-315 LATERAL TOP SUPPORT CM-315
83 47572 1 PATA A CM-315 LEG CM-315 LEG CM-315 LEG CM-315

84 47573 1 DISTANCIADOR EJE MOTOR CM-315 SPACER MOTOR AXLE CM-315 SPACER MOTOR AXLE CM-315 SPACER MOTOR AXLE CM-315

85 47428 1 INTERRUPTOR CM-315 SWITCH CM-315 SWITCH CM-315 SWITCH CM-315

86 47574 1 TORN M8X10 CM-315 SCREW M8X10 CM-315 SCREW M8X10 CM-315 SCREW M8X10 CM-315

98 47098 1 TOPE LATERAL LARGO CM-315 LONG LATERAL TOP CM-315 LONG LATERAL TOP CM-315 LONG LATERAL TOP CM-315

99 47090 1 LLAVE PARA DISCO CM-315 BLADE KEY CM-315 BLADE KEY CM-315 BLADE KEY CM-315

101 47123 1 EMPUJADOR CON ASA CM-315 PUSHER WITH HANDLE CM-315 PUSHER WITH HANDLE CM-315 PUSHER WITH HANDLE CM-315

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne

vorherige Ankiindigung an unseren Produkten vorzunehmen.

We reserve the right to introduce any technical modification without previous notice ) ) N . o ) .
Il est réservé le droit a introduire une modification technique sans préavis.

Pagina 2 de5



CM-315

Ref.explod 91221 02-08 02/06/2015 Product. 47955

6

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.

We reserve the right to introduce any technical modification without previous notice ) ) N . o ) .
Il est réservé le droit a introduire une modification technique sans préavis.

Pagina3deb5



CM-315

Ref.explod 91221 02-08 02/06/2015 Product. 47955

@R

NGGB (;QQQ;C@@ @ .@@@ 19

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.

Il est réservé le droit a introduire une modification technique sans préavis.

Pagina 4 de 5

We reserve the right to introduce any technical modification without previous notice



CM-315

Ref.explod 91221 02-08 02/06/2015 Product. 47955

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.

We reserve the right to introduce any technical modification without previous notice ) ) N . o ) .
Il est réservé le droit a introduire une modification technique sans préavis.

Pagina5de5



